& H30.4 H30.5 H30.6
HIZH iEH RO | RKREELANIL #ZH AR ZKREBEELANIL iEH SR | KRKREELANIL
1 H 5 69.0 N 22 72.3 £ 15 83.2
2 H 13 78.8 7K 11 83.2 + 15 71.3
3 PN 13 76.2 N 8 76.1 H 12 71.9
4 7K 22 78.4 & 12 76.9 A 11 74.2
5 /S 21 76.6 + 16 71.7 N 17 79.4
6 £ 10 81.1 H 10 70.4 7K 1 65.7
7 T+ 3 75.4 A 2 72.0 A 12 81.3
8 =] 27 80.9 X 2 74.3 £ 3 69.9
9 H 18 741 7K 10 72.4 + 25 80.4
10 N 18 68.9 X 14 81.2 H 2 66.1
11 7K 9 72.2 £ 11 76.7 A 0 —
12 X 17 82.3 + 13 78.7 N 6 83.6
13 £ 8 67.5 H 0 — 7K 8 71.4
14 T+ 5 78.1 A 10 79.2 X 24 76.0
15 H 2 72.0 N 15 75.9 £ 2 63.1
16 H 13 74.0 7K 15 82.3 + 5 71.2
17 N 14 75.0 A 14 71.8 =] 12 76.5
18 7K 8 66.8 £ 10 72.9 H 1 62.8
19 A 23 77.3 + 8 77.3 N 17 82.3
20 & 16 72.4 H 11 72.6 7K 0 —
21 + 19 72.4 A 34 72.6 A 5 70.3
22 H 11 66.7 N 14 75.1 £ 16 73.1
23 A 10 71.3 7K 4 71.3 + 4 67.3
24 N 3 66.1 P/ 16 76.6 H 6 69.5
25 7K 8 67.9 £ 12 72.2 H 16 79.0
26 X 15 78.9 + 7 69.7 PN 13 75.7
27 £ 9 69.4 H 9 69.5 7K 3 80.2
28 + 15 67.9 A 18 68.8 A 9 77.7
29 H 13 70.7 N 12 815 £ 6 69.5
30 H 18 78.8 7K 5 71.2 + 3 74.0
31 X 4 64.3
ARl&X{E 27 82.3 | ARI&XIE 34 83.2 [AfEmXIE 25 83.6




th/g H30.7 H30.8 H30.9
HIZH iEH AR ZRKRESELANIL iEH SO | RKREELANIL iEH AR RKREELANIL
1 H 11 72.1 7K 4 80.9 + 16 73.2
2 A 12 77.0 X 8 78.9 H 1 66.1
3 PN 2 70.2 & 5 69.3 B 4 75.1
4 7K 1 69.0 + 5 79.0 N 0 —
5 A 1 76.4 = 10 70.5 7K 13 75.4
6 & 1 65.1 )= 7 74.3 A 7 68.0
7 T 5 725 N 0 — £ 6 66.5
8 H 6 80.6 7K 0 — + 7 68.7
9 A 12 74.5 A 2 66.4 =] 7 70.0
10 N 11 79.1 by 4 79.1 B 4 77.2
11 7K 15 76.0 + 14 70.7 X 11 79.4
12 R 5 70.9 = 6 82.3 7K 10 69.9
13 % 6 67.6 A 10 82.6 X 13 76.0
14 T 8 70.0 N 10 70.1 5y 4 73.7
15 H 11 70.0 7K 8 71.7 + 3 67.9
16 A 12 73.5 /N 6 70.8 H 12 69.9
17 N 9 78.4 £ 6 71.8 A 7 72.3
18 7K 4 70.8 + 13 66.5 X 13 74.3
19 X 9 76.5 = 11 73.0 7K 9 84.0
20 & 12 70.5 A 5 70.0 A 8 66.2
21 T 7 79.0 X 11 77.3 ey 1 64.7
22 =] 15 73.6 7K 13 735 + 2 68.3
23 A 9 80.9 N 8 73.0 = 21 67.5
24 N 4 72.2 & 1 67.7 A 7 84.2
25 7K 14 72.4 + 7 68.0 X 2 78.3
26 /N 13 73.5 =] 12 71.3 7K 3 76.0
27 & 8 81.5 A 10 70.9 X 7 81.9
28 T 0 — X 13 79.9 & 9 68.5
29 H 7 741 7K 10 69.0 + 1 68.1
30 A 9 70.5 /N 4 725 = 1 61.8
31 N 12 76.0 % 11 76.5
ARl&XI{E 15 815 | ARI&XIE 14 82.6 | ARIE&XIE 21 84.2




thm H30.10 H30.11 H30.12

HIZH ZH RO | RKREELANIL iEZH gFAIEH | RKREELANIL iEH SRR | FRREBEELANIL
1 H 17 72.3 A 16 76.3 + 11 69.8
2 PN 12 75.8 & 17 71.2 H 12 72.3
3 7K 13 72.5 + 27 69.4 A 15 82.5
4 X 16 81.5 H 7 84.5 N 8 70.8
5 & 2 65.9 A 9 76.2 7K 15 75.9
6 + 5 80.0 Pq 1 61.9 X 2 64.8
7 H 13 66.5 7K 3 64.4 % 10 741
8 H 7 70.2 A 19 77.8 + 16 77.8
9 PN 12 785 £ 1 68.7 H 22 725
10 7K 11 73.2 + 14 745 H 13 75.0
11 A 7 73.7 H 15 69.5 N 7 74.8
12 & 8 67.5 H 11 69.9 7K 10 72.1
13 + 8 68.4 N 17 72.9 A 17 76.6
14 H 11 70.2 7K 14 69.6 £ 13 73.4
15 J= 14 72.2 A 19 80.4 + 6 70.5
16 PN 14 71.7 & 14 71.6 H 5 70.8
17 7K 17 83.8 + 18 69.9 H 9 68.5
18 X 7 73.5 H 10 745 N 23 82.9
19 o 6 70.6 J= 13 73.0 7K 27 74.9
20 + 8 66.9 N 21 74.3 X 25 80.1
21 H 18 76.1 7K 21 76.0 £ 7 67.3
22 )= 21 77.3 A 7 67.8 + 11 72.0
23 N 4 70.5 £ 11 72.6 =] 7 75.5
24 7K 11 73.4 + 17 75.6 H 13 75.3
25 A 21 78.3 H 13 76.3 N 17 775
26 & 22 78.2 H 19 71.8 7K 6 68.4
27 + 8 70.6 N 26 76.2 A 13 69.5
28 H 11 70.6 7K 14 75.4 7 69.4
29 H 7 76.4 P/ 12 73.2 11 79.5
30 N 16 78.9 £ 11 748 8 65.1
31 7K 15 78.9 6 71.2
= 22 83.8 | AM&XIE 27 84.5 27 82.9




thm H31.1 H.31.2 H31.3

HIZH ZH RO | RKREELANIL iEZH AR ZKREBEELANIL iEH SR | KRKREELANIL
1 PN 4 71.9 ey 7 84.6 £ 15 84.2
2 7K 4 69.1 + 13 72.0 + 20 84.8
3 A 9 73.5 H 5 70.6 H 2 63.3
4 4 18 721 A 6 75.7 A 10 82.3
5 T+ 8 68.3 N 14 80.7 N 34 87.3
6 =] 12 74.4 7K 6 76.2 7K 24 88.5
7 A 11 80.9 P/ 16 80.7 X 13 88.4
8 PN 9 78.0 & 9 79.1 g 26 84.5
9 7K 10 81.2 + 2 74.7 + 19 89.7
10 /N 11 73.1 H 15 75.0 H 5 78.8
11 & 19 89.9 A 9 77.9 )= 14 82.5
12 + 9 70.0 N 20 82.1 N 12 85.9
13 H 19 70.8 7K 18 81.6 7K 23 83.2
14 A 17 79.9 A 20 82.3 A 13 715
15 N 11 71.2 £ 5 79.3 £ 15 75.8
16 7K 29 80.5 + 5 79.4 + 8 69.6
17 A 20 86.7 H 3 63.5 H 17 72.3
18 £ 21 82.4 H 26 82.0 H 8 66.7
19 + 8 70.8 N 14 79.1 N 14 72.2
20 H 9 71.6 7K 14 82.6 7K 13 69.7
21 H 18 82.4 /N 25 86.9 /N 7 69.7
22 N 26 83.6 & 11 82.3 £ 13 71.9
23 7K 17 77.2 + 5 68.5 + 10 72.8
24 A 18 81.6 H 8 68.4 H 13 72.2
25 £ 5 64.4 H 15 87.7 H 30 78.7
26 + 1 67.3 N 16 84.0 N 20 77.2
27 =] 11 81.4 7K 19 84.6 7K 19 81.3
28 A 4 81.0 X 13 85.2 A 21 78.2
29 N 18 79.0 £ 8 75.6
30 7K 8 71.0 + 5 82.5
31 A 2 76.5 H 11 71.2
ARl&X{E 29 89.9 | ARI&XIE 26 87.7 | ARI&XIE 34 89.7
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